
O v e r h e a d G a t e H a r d w a r e

Weight Width Height
Short Set 350lbs 19’ 6’6”-7’
Standard Long 350lbs 19’ 7’-7’6”
Standard Jumbo 350lbs 22’ 7’-8’
Heavy Jumbo 550lbs 22’ 7’-8’
Long Heavy Jumbo 650lbs 22’ 9’-10’6”

Types And Sizes Of Jamb Track Hardware

Overhead Jamb Track Hardware List

8910

12

11

1R

17 4R14

16

2

3

5

6

7

13 1515A 18 20A

20

19

20B
19A

21

22

2931 32 32A

33

34

23

24
27

35

25
26

28

30A 30B 30C

AUTOMATIC GATE OPERATORS

SLIDERS
E

• SWING RS • OVERHEADS

®

AUTOMATIC GATE OPERATORS

SLIDERS
E

• SWING RS • OVERHEADS

®

1L (Not Shown)

4L
(Not Shown)

HARDWARE

23 Connecting Link
24 Connecting Link Bushing (x2)
25 Connecting Link Bolt 3/8”
26 Connecting Link Bolt 1/2”
27 Connecting Link Nylon Nut 3/8”
28 Connecting Link Nylon Nut 5/16”
29 Spring End With Saddle
30A Spring - 3”
30B Spring - 4”
30C Spring - 5”
31 Spring End With Nut
32 Spring Adjusting Bolt 1/2”
32A Spring Adjusting Bolt 5/8”
33 Spring Adjusting Bolt 1/2” Washer
33A Spring Adjusting Bolt 5/8” Washer
34 Tracks 8’
35 Label 2.5” X 2” Warning Bracket

1R Power Arm - Right

2 Inner Thrust Bearing
3 Main Pivot Bushing
4R Main Pivot Bracket - Right
4L Left
5 Outer Thrust Bushing
6 Flat Washer 3/4”
7 Nylon Threaded Nut 3/4”
8 Label 2” X 11”
9 Lower Pivot Bushing (x2)
10 Lower Pivot Pin (Tapered)
11 Lower Pivot Pin Retaining Clip

1L Power Arm - Left

Main Pivot Bracket -

12 Lower Pivot Bracket
13 Kicker Roller Bracket
14 Kicker Roller Shaft
15 Kicker Roller
15A Kicker Roller w/ Shaft
16 Kicker Roller Retaining Clip (x2)
17 Track Roller Bracket
18 Track Roller Shaft
19 Track Roller 3”
19A Track Roller w/ Shaft
20 Track Roller Collar
20A Track Roller Washer
20B Track Roller Retaining Clip
21 Main Spring Bracket
22 Spring Bracket Hardware



All Jamb Track Hardware
. Do not try to

learn to install Jamb Track Hardware only by reading the instructions,
it can not be done. You must be taught in the field by those you trust
and have been installing experience. To maintain Jamb Track
Hardware you must have years of experience working with an
experienced installer who has taught you the proper way to maintain
overhead gates and Jamb Track Hardware.

must be installed and maintained by
who are experienced and well trainedtechnicians

ALL-O-MATIC INC
North Hollywood, CA 91605

Quality.

All Second To None...

Performance.

Service.

AUTOMATIC GATE OPERATORS

SLIDERS
E

• SWING RS • OVERHEADS

®

WARNING

WARRANTY

AUTOMATIC GATE OPERATORS

SLIDERS
E

• SWING RS • OVERHEADS

®

H T T P : / / W W W. A L L O M A T I C . N E T O v e r h e a d G a t e H a r d w a r e

T i l t U p J a m b T r a c k H a r d w a r eT i l t U p J a m b T r a c k H a r d w a r e

All-O-Matic, Inc jamb track hardware is warranted against defects in materials and
workmanship for two years. Any part or parts of hardware found to be defective within this
period shall, at the manufacturer’s option, be repaired or replaced free of charges, F.O.B.
Our factory.

The above warranty is in lieu of all other warranties, expressed or implied, and shall be


